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Instructions for candidates:

Write your Roll No. on the top immediately on receipt of this question paper.
Attempt any five questions. All questions carry equal marks.

Answer may be written in either English or Hindi; but the same language should be used
throughout.
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Q.1) (a) What is a Production possibility curve? When will it shift away from the point of
origin? Show diagrammatically.

(b) Explain the central problems of an economy. Why do they arise? 8,7
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Q.2) (a) Discuss the law of demand. Why does the demand curve usually slope downward?
(b) Explain the exceptions to this law? (8,7)
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Q.3) (a) What do you understand from price ceiling? Explain diagrammatically its
consequences.

(b) Prove that the price elasticity ranges from zero to infinity on a negatively sloped
straight line demand curve. 8,7
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Q4 “Price effect is a summation of income effect and substitution effect.” Explain
diagrammatically in case of a,

(1) Normal good and,
(ii) Inferior good.
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Q.5 (a) Explain the concept of returns to scal

e. Show the three kinds of returns to scale with
the help of iso-quant analysis.

(b) Explain the reasons for increasing returns to scale.
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Q.6 (a) Show with the help of diagram the relationshi
variable cost, average cost and marginal cost
(b) Why is the short run average cost curve U — shaped?

D between average fixed cost, average
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Q.7 (a) Explain the equilibrium conditions of a competitive firm in the short run.
(b) Explain diagrammatically when a firm will,
(1) Earn a normal profit
(i1) Suffer losses but continue production
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Q.8 Write short notes on any two of the following:
a) Consumer’s surplus

b) Giffen good
c) Sunk cost

d) Deadweight loss (772, 7'5)
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